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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The World Travel and Tourism Council launched a campaign called :
(A) Green Globe (B) Green Leaf Programme
(C) Train the Trainer (D) Green Evaluation Programme

2. WTO is based in :

(A) Paris (B) Madrid (C) London (D) Washington

3.  Which of the following type of accommodation unit was opened in 1634 in America by
Samuel coles :
(A) Caravan (B) Pension (C) Tavern (D) Cabana

4.  WWEF stands for :
(A) World Wide Fund for Nature
B) World Wild Life Fund
)  World Wide Tourism Fund
D) World Wide Fund for Monuments

5.  Which state is called the ‘Jewel of India’ :

(A) Manipur (B) Assam (C) Hariyana (D) Punjab

6. A point between origin and destination of an itinerary at which a passenger remains
for a period of time :
(A) Transit (B) Excursion (C) Terminus (D) Pause

7.  Name of the Travel plan which includes transportation, accommodation and right
seeing :
(A) Inclusive Tour (B) Escorted Tour
(C) Package Tour (D) Conducted Tour

8.  T.G.V.is associated with which of the following :
(A) Aircraft (B) Resort
(C) Cruises (D) High Speed Train

9.  Which of the following is not the Tourism product of Singapore

(A) Shopping (B) Sports
(C) Convention facilities (D) Mountain Trekking

J—9307 2



qeE

e SEwT Ue Yee
TITUH — 11

TH YUY U § U (50) 9g-faehedta W9 € | Wik WY ok af (2) ek § | Wt weAt
% IAE |

& acg oot wwe fen Fifga 7 Tt i gy frn TR gen T ©

(A) W T (B) T e T (FHRIHH)

© TRIW (D) T TAREA W

E@Lﬁ.ﬁ.ﬁqﬁ%:

(A) OR™ (B) Wefe (C) <A (D) af¥iTred
frefafed o 9 frg 4oit o oTeme i $1E S T 1634 H YA hierd §RI QI 747 o7
(A) HIE (B) UIA (C) e (D) hell
T T U Tendht T &9 T

(A) TCE TRE HUE HR AR (B) dcE dTEeE ARE WU

(C) e e IREH HUE (D) o€ J1ES HUS HX AMHH

fore T 1 ‘ fSiferer a1 Sfean’ wver ST 2
(A) HfTqR (B) THH (C) =fEmm )ERSE

A YA H A o 3T T T~ T & S ol a8 fowg Sel 9t 3o v & fau war e
(A) gifse (B) USIHTH (C) =Hiw (D) S

~

I I AT 1 A sy, ey qieed, 19 U6 g1 T <@ IMhd € ¢

(A) wftafad w2 (B) TIRafl WA

(C) Thst T (D) Wl WA

3.5t 4. frefafed § 9 fa & @y gy §

(A) TITTHHE (B) yd TM (W)
(© &S (D)  orfa At et (39)
frafafed # @ oF @1 fEmgR =51 wHer 3T T T

(A) iy (B) weH

(©) wwrT Hfaeng (D) T gfehm

J—9307 3 P.T.O.



10. Which of the following are the Biosphere reserves in India :

(i) Nilgris (i) Gulf of Mannar
(iii) Ladakh (iv) Sunderbans
Code :

(A) (i) (i) (i) are correct

(B) (i) (i) (iv) are correct

(C©) (@) (i) (iv) are correct

(D) () (i) (iv) are correct

11. Which of the following films were produced by the Ministry of Tourism during the
year 1998-1999 :

(i) India
(i) Himalayan Adventure
(iii) Mountain Railway Journeys

(iv) Pilgrim Tour in India

Code :

(A) (i) (i) (i) are correct
(B) () (i) (iv) are correct
(C) () (i) (iv) are correct
(D) (i) (i) (@iv) are correct

12. Identify the temples located at Kanchipuram :
(i) Vaikuntha Perumal Temple
(i) Kailashanatha Temple
(iii) Brahedeswara Temple

(iv) Ekambareswara Temple

Code :
(A) (i) (i) (iii) are correct
(B) (i) (i) (iv) are correct
(C) () (i) (@{v) are correct
(D) (i) (i) (@v) are correct
13.  Which of the following pairs is not correctly matched :
(A) Pawan Hans - Helicopter services
(B) Dakshina Chitra- Heritage site
(C) Chilika lake - Wetland
(D) Mahabalipuram - Sun Temple
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14.

15.

16.

17.

Assertion (A) : India has a tropical type climate.

Reason (R) : India is located exactly between the tropical latitudes.

(A) Both (A) and (R) True and (R) is the correct explanation of (A)

(B) Both (A) and (R) are True but (R) is not the correct explanation of (A)
(C) (A)is False but (R) is True

(D) Both (A) and (R) are False

Assertion (A) : We feel colder on mountains than on plains.
Reason (R) : Temperature decreases with attitude.
(A) Both (A) and (R) True and (R) is the correct explanation of (A)

(B) Both (A) and (R) are True but (R) is not the correct explanation of (A)
(C) (A) is False but (R) is True
(D) Both (A) and (R) are False
Match the following List - I with List - II :
List - I List - 11
(a) First class fares (i)  For exclusive passenger
(b) Economy fares (ii) For students and emigrants
() Excursion fares (iii) For tourists
(d) Discounted fares (iv) For the common passengers
Code :
(@ (b)) () (@
(A @O G @) G)
(B) @) @) Gv) @)
© ©® (v) @) (@)
(D) @) @) @) ()
Match the following List - I with List - II :
List - I List - 11
(a) Destinational Tour package (i)  Destination is the selling point
(b) Stop over package (i) Enroute Destination
(c) Special interest package (iii) Known tourist attraction
(d) Brand name package (iv) Sports and historical places
Code
(@ (b)) (o (@
@) O @) G )
® O G (v )
© @) @) (v @
D) (O ) ) (i)
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18. Match the following List - I with List - II :

List - 1 List - 11
(a) Down Town Hotel (i) In the heart of the city
(b)  Sub urban Hotel (ii) In the hills or beaches
() Resort Hotel (iii) Quieter Surroundings
(d) Inns (iv) Smaller in size
Code :
(@ () (o (@)
(A) @) () @) @Gv)
B) @) (@) @v) ()
© @) @@ 3§ @)
(D) @) @ 3 G)
19. Match the following List - I with List - II :
List - 1 List - 11
(@ ICAO (i) Civil Aviation
() FHRAI (ii) Travel Formalities
() TATA (iii) Hotel and Restaurant
d TIATO (iv) Tour and Travel organisations
Code :
(@ ((b) (o (@
(A) @) (@) (v) (D)
B) @) @) 3§D @)
© @ () G @)
(D) @) (v) (D) (i)
20. Match the following List - I with List - II :
List - I List - 11
(a)  Shivpuri - Kodiyala (i) River Rafting
(b) Hemis Monastry (i) Gangtok
(c) Flower Festival (iii) Ladakh
(d) Sankasya (iv) Uttarpradesh
Code :
(@ () (o (@
@A) (O G @ )
® () O ) @)
© @) O ) )
D) (v) ) 0 )
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21. We have three major types of natural heritage sites in India. Identify the correct order
in which they appeared in India :

(A) National Parks, Tiger Reserves, Biosphere Reserves
(B) Tiger Reserves, National Parks, Biosphere Reserves
(C) Biosphere Reserves, National Parks, Tiger Reserves
(D) Biosphere Reserves, Tiger Reserves, National Parks
22. Identify the order in which the following historic heritage sites were constructed :
(A) Qutub-Minar, Red Fort of Agra, Taj Mahal, Churches of Goa.
(B) Red Fort of Agra, Taj Mahal, Qutub-Minar, Churches of Goa.
(C) Taj Mahal, Red Fort of Agra, Qutub-Minar, Churches of Goa.
(D) Churches of Goa, Red Fort of Agra, Qutub-Minar, Taj Mahal.

23. Arrange the following events in which they took place.

(i) L. K. Jha Committee

(i) Formation of ITDC

(iii) F.R. Allchin’s Report on cultural Tourism in India.
(iv) Sir John Sargeant Committee

@) O @ @@ W)

® v O @ (i)

© (@) () O @)

D) () @) @) @)

24. Arrange the sequence of the following tourist attractions as per their origin.

(i)  Sea side resorts

(i) Spa

(iii) Railway Transportation
(iv) The Grand tour

@) O @) G @)
B () ) (v 0
© (@) () 0 @)
D) () O ) (i)

25. Arrange the following places in accordance to the life cycle of Lord Buddha.
(i) Bodh Gaya (i) Lumbini
(iii) Saranath (iv) Kushi nagar
(A) (i) @ 0 @)
® () O ) @)
© O @) @) @v)

D) (v) @) @) O
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Read the passage below and answer questions No-26 to 30.

The cultural heritage and the natural heritage are among the priceless and irreplace
able possessions not only of each nation, but of mankind as a whole. The convection
for the protection of the World’s Cultural and National Heritage, to give the world
Heritage convention, its full name was adopted by a United Nations Educational,
Scientific and Cultural Organisation Conference on 16 Nov 1972. The convention is
designated to enable nations to cooperate in the protection of cultural and natural sites
of outstanding value to humanity. The convention may be regarded as one of the
pinnacles of World Conservation.

World Heritage sites are cultural and natural items which are selected by the
definition of the convention because they are judged to display universal value. Under
the items of the WHC each cultural property nominated should therefore represent a
masterpieceof human creative genius. World Heritage has long been recognised as
having significance for tourism. However the exact nature of the relationship is open
to debate. Never the less, the conventions still seen by many conservationists as one of
the pinnacles of world cultural and natural conservation. Moreover , tourism is also
regarded as providing a valuable justification for conserving heritage where other
economic development activities may mean its destruction.

26. Which one of the following site is not an international heritage site ?
(A) The Taj Mahal (B) The Konark Temple
(C) The Temples of Khajuraho (D) Elephanta

27. Match the following List - I with List - II :

List - I List - 11
(a) UNESCO - Conference @ 1972
(b) Sanchi (i) M.P.
(c) Rameswaram (iii) Maharashtra
(d) Ellora (iv) Tamilnadu
Code :
(@ ® () @
(A) @ @) @) (@v)
B) @ @) (@v) (i)
© @ @) @@ (@v)
D) @ Gv) () ()
28.  Which of the full form of the following abbreviation is not correct :
(A) UNESCO - United Nations Educational Scientific and Cultural
Organisation.
(B) WHC - World Heritage Convention
(C©) TAAI - Travel Agents Association of India
(D) IATO - Indian Association of Transport Operators
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27.
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(a) IR W () 1972
(b) @t (i) T Y
(c) THIH (iti) TR
d) TEN (iv) TIHEAg
BT :

(@ B (© @
(A) @ @) @) (i)
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© O @) G (i)
(D) @) (@v) (i) (i)
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29.

30.

31.

32.

33.

Match the following List - I with List - II :

List - I List - 11
(a) Nandadevi (i) Uttaranchal
(b) Kaziranga (i) West Bengal
(c) Nilgris (iii) Assam
(d) Sunderban (iv) Tamilnadu
Code :

(@ B () @
(A) @ @) @0 (@v)
B) @ Gv) () ()
© @ @) (@v) ()
D) @ @) () (v)
The text of the passage can best be described as :
(A) Descriptive (B) Informative
(C) Analytical (D) Critical

To fix the price of any article Rs 99.90 instead of Rs. 100 is a policy of :
(A) Promotion Pricing (B) Physchological Pricing
(C) Customary Pricing (D) None of the above

In classifying new product opportunities the product which have neither immediate
appeal nor long-run benefits is called :

(A) Salutary products (B) Desirable Products
(C) Deficient Products (D) Pleasing Products

Match the following List - I with List - II :

List - I List - 11
(a) Rising sales at increasing rate (i) Introduction stage
(b) Rising sales at decreasing rates  (ii) Growth stage
(c) Sales are starting (iii) Maturity stage
(d) Stable sales (iv) Saturation stage
(e) Falling sales (v)  Decline stage
Code

(@ @ (© (@ (o
(A) @ @@ 3§) @) )
(B) @) @@ @O @) O
(© G) @) @ @) O
(D) @) @) (@) @ O
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30.

31.

32.

33.

-1 -1
(a) et (i) SR
(b) TS (i) o S
(c) e (iti)  ATE™
(d) g=wad (iv) dIfHeATg
FiE:

@ b () @
A) @ @) @@ (v)
B @ (@v) (D) (i)
© @ (@) @Gv) (i)
D) @ @) @) (v)

39 YoIuIe &l g1 ford T | Te & 9 afvfq T Tehd € -
A

(B) =TSR
(D) STQ=ATHS

?@

fordt og 1 forma ST9 100 T99 & set 99.90 T fAuifd &t <t € df 39 fifq = ww
SR

(A) HraET geard (B) TSR FeaTdt
(C) 7T T2 oA (D) WK HIE TE
T IR TTE A FAWISH F THF o 3 St 7 @ ¥y eafvefa a1 o € ofR 7 & wrwait
TrEEE o fTT wRIGHS Bd € 1 ST =edl © ¢
(A) Tl 3’ (B) fuferd 3=
(C) TUIfadH 3% (D) ATwdh IAG
Trefafead g=i-1 1 g=i-11 & wrer e L
geit-1 geit-11
(a) oGl W gl foshd (i) IR sreen
(b) FIRGr R e o (ii) ToreRre svereen
(c) foemt g& (iti) I STerERA
(d) TR foshl (iv) & TaE
(e) Tt fersht (v) Wefa steeen
BT :
@ O © @ (o
(A) (@) (@) (@) (@) (v)
(B) (i) (i) (@ (@) (v)
© (@) @) @ (@) ()
(D) (@) @@ @) O ()
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34.

35.

36.

37.

38.

Give the right sequence of the following commercial communication stages of advertising
goals :

(i) Awareness

(ii) Conviction

(iii) Comprehension

(iv) Action

(A) @ @) () (v)

B) @ @) (@) (v)

© @ Gv) (@) (i)

(D) @ @) (v) ()

Assertion A :  Marketing planning is not essential to carry out the marketing
operations scientifically and successfully.

Reason (R) : A marketing plan lays down in writing the marketing objectives,
programmes and policies to be adopted to achieve the set marketing
objectives.

(A) Both (A) and (R) True and (R) is the correct explanation of (A)

(B) Both (A) and (R) True and (R) is not the correct explanation of (A)

(C) (A) True (R) False

(D) (A) False (R) True

Group of people working together for a particular goal will be called as :

(A) Controlling (B) Planning

(C) Organisation (D) Directing

Inter - disciplinary team is also known as :
(A) Employee - Involvement Teams

(B) Empowered Teams

(C) Formal and Informal Teams
(D) Cross Functional Teams

Match the following List - I with List - II :

List - I List - II
(a) International Business (i) SPSS
(b) Communication (ii) Johari window
(c) Leadership (iii) Dumping
(d) Computer (iv) Wavelength
Code :

(@ () (o (@)
@) O @ ) (i)
B (i) (v @) 0
© O @) @) @v)
D) (v ) 0 )
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34.

35.

36.

37.

38.

fommm = fog 1 W & o fore fre =i wwarel @t fafim serensii &1 A
s

() SERRI (i)  STAYRON
(ili) AT BRI (iv) AR
(A) @ (@) () ()
B) @ (@) @) ()
© @ (v) @) (i)
D) @ (@) @v) (i)

HUT A :  TIIFA FEER ® SHE T el s % fag fauue fEieE # sea 7@ R

SIOT (R) : ToquH o 3294l o6t gfd o fere foraum feism # fafea 9 | foaom 38ea wrisa
T fifqat gifed i S ¥

A) THI (A) 3R (R) T&T € a1 (R), (A) it HE A& B |

B) THI (A) 3R (R) W&l € a1 (R), (A) T T ==& T |

C) (A)FHTF (R) T |

D) (A) e ® d (R) &l T

AR 1 T v fohet ffved Sexel 1 Wit o T <19 T |1g ™ & © df 39 ST
SR :
(A) T (B) TS (C) HmaA (D) fadem

sT-aferredt THE I Hed ¢
(A) wHIR wMHe G998
B) UK R

Trefafed g=i-1 1 g=i-11 & wrer e L

-1 get-11
() TEYTET.
(i) e faewt
(i) SfEE
(iv) daie
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39.

40.

41.

42.

Which of the following is the right sequence of Maslow’s Need hierarchy :
i)  Esteem Need
ii)  Self Actualization Need

iii) Physiological Need

iv) Belongingness Need

(
(
(
(
(v)  Security Need
(
(
(
(

A) @O @) (@Gv) () (V)

B) (v ) @ (@) (@)

Q) @) (v) (@v) @@ ()

D) () (v) () @) (V)

Assertion A : I am OXK - You are O.K means both giver and sender fed pleasure to
everyone concerned

Reason (R) : Iam O.K - You are not O.K means the person feels good about self but
disturb others.

(A) Both (A) and (R) True and (R) is the correct explanation of (A)

(B) Both (A) and (R) True and (R) is not the correct explanation of (A)

(C)  (A) True (R) False

(D) (A) False (R) True

Median may be calculated as :

" L+(N—1)f/2—Cfxi ) L+N/2f+Cfxi
(C) L+N/?_f><i (D) L+—N/2f_Cf><i

A bag contains 5 green and 4 blue balls. Two balls are drawn at random one after the
other without replacement. Find the probability that both balls drawn are blue :

(A) 1/6 B 1/7 © 1/8 (D) 1/9
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39.

40.

41.

42.

=1 H 9 S 1 GGl i SATITIR i ShHEGA i Tl ®Y H il & 2
() TEM AEFRd
(i) HF TFIACTESIRM TR

HITA: HIAHE, 9 S & v 7 R I 9IS 9t 9 I werere 9 3 fag
S HEYH hid |

T (R) : & 31k %, 319 S 1 €' 9 eifum T for wrafeg safaq oo oma & w&e
T 9 T P I HA

(A) TFI(A) T (R) W& E T (R), (A) I TS A=A T |

(B) <Ml (A) @ (R) W& § A (R), (A) Tt Tl =& Tl |

(C) (A)®& T (R) TTerd T

(D) (A) 7T € 9 (R) W&t B

Hifea T i FIUAT ST @
) L+(1\1—1)f/2—Cf><i - L+N/2f+CfX
(C) L+N/2_f><i (D) L+N/2_Cf><

f

T I H 5 T 4 el Tig €1 & 7S Afrafaa w9 § frepredt 7, T & ag g fom duere
% T ! 1 GUTEAT § R S TS St Fepreft T2 € ag et S ?

(A) 1/6 (B) 1/7 (C) 1/8 (D) 1/9
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43.

44.

45.

46.

47.

Match the following List - I with List - II :

List - I List - 11
(@) Run Test (i) Parametric
(b) X2 (Chi) Square Test (i) Non-Parametric
() T-Test (iii) Parametric
(d) F-Test (iv) Non-Parametric
Code
(@ () (o (@)
(A) @ @) 3> @)
(B) @) @ () @)
© @) (@v) @ ()
(D) @) (@) (@v) @)

Which of the following is a projective technique of data collection :

(i) Word Association Tests (i) Sequence Completion Tests

(iii) Story Completion Tests (iv) Verbal Projection Tests

(A) (i) and (ii) only (B) (i), (ii) and (iii) only

(C) (i), (ii), (iii)) and (iv) only (D) (ii) and (iv) only

Assertion A :  Research is guided by the rules of logical reasoning and the logical
process of Induction and deduction of great value of carrying out
research.

Reason (R) : Logical reasoning makes research more meaningful in the context
decision making.

(A) Both (A) and (R) True and (R) is the correct explanation of (A)

(B) Both (A) and (R) True and (R) is not the correct explanation of (R)

(C) (A) True (R) False

(D) (A) False (R) True

Which of the following is correct :

(A) Capital = Assets + Liabilities.

(B) Capital + Liabilities - Assets = Zero
(C) Capital - Liabilities + Assets = Zero
(D) Capital + Liabilities - Assets = Zero
% X360 is a formula of :

(A) Average Collection Period (ACP)
(B) Average Collection Payment (ACP)
(C) Accounting Concept Period (ACP)
(D) Audit and Cast payment (ACP)
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43.

44.

45.

46.

47.

Frefefed g=it-1 s g=-11 % @ e =L

THt-1 -11
(a) W () THEefR®
(b) 2 (FE) TR T (i) = el
() F-w (iii) el
d) TE-3W (iv) M ReeRes
HIE :
(@ @) ((© (@
(A) @ @) @) (i)
(B) (@) @ G (i)
© @ @) @ (i)
(D) (@) @@ @) @O
Hehetd ot Jardt aeheh 1 § § o €t §72
() o€ THHITE = (i) e HEARE TR

(ili) R HEEH R
(A) FaA (i) 3R (ii)
(C)  &wad (i), (ii), (i) 3R (iv)

SMTHFRYT A :

SHIUT (R) :
e (R) :

(iv) eic YR T
(B) Had (i), (ii) 3 (iii)
(D) e (ii) 3R (iv)

TNy W& dMfcheh o 91 o TR W R 2B 2 59 3Taman 3y fdee
% 3T ST o FTHA % ifehek Wi ki it sigd Hedl et 2|

ol T a1 difeheh ShROT ST 1 Sigd & SRR oA ¢ |

frofa o ¥g =T ae Y i STk | oA 2

(A) THI (A) d (R) T&I € T (R), (A) I T TILH T |

(B) T (A) T (R) W&l ¥ A (R), (A) T Tel TILHI & ¥

(C) (A) T T T (R) T g

(D) (A) 7 € 9 (R) Tl 1

feEdasRaad 2

(A) USTt=gwfd + SeREr (B)  USH+ SERIAT — FHfd = =

(C)  YSTt — SERIAT + Frafd = =

(D) YSTt + SGRIET — Frafd =

QIR

(A) 3Tq THEHR §9F (ACP) (B)
(C) <@ FFERon 3fafy (ACP)

J—9307

3T d TSRO A (ACP)
(D) 3HhRaTo F AR YA (ACP)
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48. Match the following List - I with List - II :

List - 1 List - I1
(a) Warehousing (i)  Ordering Cost
(b) Insurance (i) Ordering Cost
(¢) Requisioning (iii) Carrying Cost
(d) Transportation (iv) Carrying Cost
Code

(@ @ () @
@) O (v G G
B (v ) 0 G
© () O @) @)
O () @) @) @)

49. The Dividend policy of the firm has effect on the value of the firm. The concept is given
by the Author/Authors.

(i) James E-Walter (i) Myron Gordon
(iii) Medigliani (iv) Miller
(A) (i) and (iii) only (B) (i) and (iv) only
(C) (i) and (ii) only (D) (i) and (iv) only
50. Assertion A : Cash forecasts are needed to prepare cash budgets.
Reason (R) : The short term forecast cannot help in determining the case

requirements for a predetermined period to run a business.

(A) Both (A) and (R) True and (R) is the correct explanation of (A)

(B) Both (A) and (R) True and (R) is not the correct explanation of (A)
(C) (A) True (R) False

(D) (A) False (R) True

-00o0-
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48.

49.

50.

Trefafed g=i-1 1 g=i-11 & wrer e L

geit-1 -1I
(a) TIR™ (i)  STCRMHE AN
(b) = (i)  STSATHR ARTI
(c) Hm (iii) RO AT
(d) R (iv) HNTiE AnTd
BT :

(@ () () (@)
(A) @) (@v) (i) (i)
(B) (v) (i) (@) (i)
© @ @) (@) (iv)
(D) @ @) () (iv)

Teh H HI AT AT P SHH JoF W YT TS § T TR JoI R S TSl § 39
ST ! foRd oiEeh / oraehl 3 5 fean?

() S, el (i) TR TREA

(iii) Hrefreart (iv) faeR

(A) FaA (i) 3R (iii) T (B) 9 (iii) 3TN (iv) T
(C) Had (i) 3R (i) Tl (D) %ad (i) 3R (iv) T&

HYTA :  THhS I I I % T Tohg QaTTHM 1 STrewaehal 2t 7 |

SHIUT (R) : TRl SHadm o fuiia 999 o Sidia < S aTell e SeXd 3709 31ast &1

ATTHN AT el L Hehdll T |
(A) TFI(A) T (R) W& E T (R), (A) I TS A=A T |
(B) 3 (A) T (R) F & 71 (R), (A) FT F& =0 T €
(C) (A) T T T (R) T g
(D) (A) 7o § 9 (R) W&l B

-00o0-
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